
Fission 
 

 

 

Questions 
 

1. Boron undergoes fission via thermal neutron capture to produce lithium-7, an alpha particle and 

energy in the following reaction: 

 

n + 10 B  →   7 Li + 4 He 
5             3                2 

 

Using the data below, calculate the energy released (in MeV) for this reaction. 
 

mass of a neutral boron atom 10.013 u 

mass of a neutral lithium-7 atom 7.016 u 

mass of a neutral helium-4 atom 4.003 u 

mass of a neutron 1.01 u 

 
 
 
 

2. Thorium-228 undergoes fission according to the equation: 

 
228 Th  →   224 Ra + 4 He 

90           88              2 
 

Use the data below to calculate the energy released for this reaction. 
 

mass of a neutral thorium-228 atom 228.029u 

mass of a neutral radium-224 atom 224.020u 

mass of a neutral helium-4 atom 4.003u 
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